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1 Classical particle in a central potential
The classical particle in a central potential has energy
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2 Angular momentum operators: definition

The classical angular momentum is

where
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a) Determine expressions for each component of angular momentum in terms of the various

components of position and momentum.

b) Use these to define an observable operator for each component of angular momentum.

Are there any issues with the order of the constituents when doing this?

¢) Determine the outcome of the operation of L, on the position wavefunction

where A is a constant.
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